Total No. of Questions : 150 : _ _ : ‘ Question Paper A
Total No. of Marks : 150 R Booklet Code
Duration of the Test : 2 Hours 30 Minutes _

V24-80)

APRIC - CET - 2024
BiPC/CGT
English / Telugu Medium

' HALL TICKET NUMBER

INSTRUCTIONS

1. Write your hall ticket number in the boxes provided on the front page of the Questlon
paper booklet immediately after receiving it,

2. Write your Question paper code on your OMR answer sheet and bubble the correspondmg ke
circle.

3. Don’twrite anything on the question paper booklet. However, for any rou gh work, you can
make use the space provided at the end of the question paper booklet.

4. For each question, choose the best answer from the four choices given. Bubble the circle,
which corr33ponds to the best answer for that questlon with Blue/ Black ball point pen
only.

5. Do not overwrite on the OMR answer sheet Please read the detailed instructions hsted on
side-1 of the OMR : answer sheet.

6. Each ques‘uon carries ONE mark. There will be no negative marks for wrong answers. |

7. The candldate is allowed to take away the question paper bookiet along with him after the
- completion of the Test. ‘

8.  Beforeleaving the examination hall, the cand1date must handover the OMR answer sheet |
to the invigilator.

This Booklet consists of 29 Pages for 150 Qu.estions + 02 Pages of Rough Work +
01 Title Page i.e. Total 32 Pages.



Question Papei' A
Booklet Code -

' SPACE FOR ROUGH WORK

V-General English 2-A



Question Paper [ A
Booklet Code

PART-1: GENERAL ENGLISH

What made the people think the Potter was humble?

(1) Hebowed to all the people

(2) He walked to the palace without climbing the horse
(3) He obeyed the tiger

(4) He liked to be the general of the Army

Will you try out this problem for me? (Identify the expression)
(1) giving permission (2) seeking permission

(3) seekinghelp | (4) suggestion

Mrs. Slater was a Vigorous woman with straight talking.
What is the part of speech of the underlined word?

(1) Noun (2) Adverb (3) Preposition  (4) Adjectiv

What was the transformation brought by Wangari Maathai in women?

. (1) She taught them to collect wood in the forest.

(2) She provided all the basic needs for them.
(3) Shemade thewomen feel confident and independent. -

(4)- She involved them in war and conflict.

What did Roberge find in ray when he refused to spoil the reputation of the culprit?

(1) humane concern - (2) aggressive approach
(3) intimidating (4) hatred and discontent -

When Gopal __(reach) the temple, it ' (be) filled with devotees. -
(1) -reached,is | (2) reached, had been .

(3) reach, was (4) reached, be-

- Ganesh plays cricket. He plays chess too.

(Combine the sentences with ‘not only-but also”)

(1) Ganesh plays not only cricket but also he plays chess.
(2) Ganesh plays not only cricket but chess also. -
(3) Ganesh plays not only cricket but also chess.

(4) Ganesh likes cricket not only, but also he plays chess.

Which are the “Alliteratives’ among the following. _
a) easy-peasy mish-mash ¢) helter-skelter d) ting-tong

b)
(1) @, 01 @) ®),),Wd = (3) (Bandd) (4) (c)and(d)

Why was the young teacher summoned by Lakshmana Sastry?

- (1) * The young teacher was new to school.

(2) Because he wanted to see the young teacher.

- (3} Because the young teacher tried to poison the minds of children on religious differences.

(4) Because the young teacher did not have accommodation in the village.

10.

How do we start a letterin ‘“ALETTER TOAF RIEND”?" ‘
(1) Signature (2) Subscription  (3) Salutation = (4) Stationand date
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11.

: You keep this money. It may be a help for you.

(Combine using ‘if”). : .

(1) Ifyoukeep this money, it may be a help for you.
(2)  You keep this money, if it may be a help for you.
(3) Ifyoukeep this money, it may not help you. -

(4) Ifyouhelpme,keepthismoney. -

12.

Where can I get a few stationery _ifems? (Change into Polite request)

(1) Where is the stationery shop?

(2) Please give us some stationery items.

(3) * Could you please let me know where I can get a few stationery items?

(4) Getme a few stationery items.

13.

Which of the following have a concluding remarks in creative expressi‘oh"?

14.

(1) Diary entry (2) Aspeech . (3) - Conversation - (4) Alltheabove
Identify the correct sentence. ' : S '

(1) Thereisn’t enough food for all the invitees.

(2). Thereisn’t food enough for all the invitees.

(3) There s food for all the enough invitees. .
(4) There is enough food for all the enough invitees.

15.

In which of the following letters, is the subject specifically mentioned?
(1) Letter to friend ' (2) : Letter to mother
(3) Letter to uncle ‘ " (4) Complaint letter

16.

A biographical sketchis | . —
(1) the life history of one self. . : : ‘

- (2). the life history of others.

(3). the history of great kings.

~ (4)  the life history of assassinated personalities. '_

7.

Mrs. Jordan is a woman. (Choose a right word that fits to Mrs. Jordan’s character) -

18.

(1) complacent (2) greedy - (3) mildandsober (4) (1)and(2)
What was the threat to Sunday Nana’s village? - o

(1) children and chickens (2) poisonous chemical drums
(3) skull and cross bones (4) the chief

19.

Which of the sentences given below is defining relative clause?
(1) Joy, who could not get a job, felt depressed. o
(2) The man who was selling balloons was very old and weak.
(3). Rajani who lives next door, is a TV artist.

(4) Who is the world famous artist?

20.

Identify the sentence that is in Present Perfect tense. -

(1) Rupahas passed the test recently. (2) They had changed the residence address.
(3) ~ Gowri delivered a wonderful speech.  (4) Children are making noise in the class.
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Question No. 21 to 25 : Read the following passage and answer the questions.
There was a small village called Sonam. There was a young girl named Ema. Ema loved to
“explore the meadows and woods around her home. Everyday, she would discover new and exciting
things in nature. '

One Sunny morning; while Ema was wandering near a stream, she spotted a glimmering
stone. It was unlike any stone she had seen before, and it filled her with 'wonder. She decided to
show it to her grandparents who were wise and know about precious gems. : |

ToEma’s surprise, his grandparents revealed that the stone was a rare and valuable gemstone
called a sapphire. Ema’s heart was filled with joy, and she learned that sometimes, the most
precious treasures can be found in the simplest places. ' co

21. What did Ema discover while wandering near a stream?

(1) avillage : _ - (2) meadows

(3) nature - . (4) glimmering stone
22, Whorevealed the identity of the glimmering stone to Ema? _

(1) grandparents (2) parents (3) neighbours (4) friends
23. What did Ema find near the stream? o -

(1) Asapphire (2) Apear] (3) A seashell (4) Apebble
24.  What did the grandparents reveal about the stone? '

(1) Itwas arare stone. (2) Itwasavaluablestone.

(3) Itwasagem stone. (4) Alltheabove.

25. Which word in the passage means ‘to disclose’? '
(1) reveal (2) - joy ‘ (3) treasure (4) precious
26. What does Lincoln’s life teach us in the lesson | ‘
““Every success story is-also a story of failures’ -
(1) Success can be achieved only at 52.
(2) Tosucceed in life is very difficult.

(3) Arelentless bard work can give success.
(4) Failure is not a stepping stone to success.

27. 'Which among the following is an Advice?
(1) Youshould not wear helmet while driving.
(2) Youshould consult a doctor for your ill health.
(3) Come tomy place for entertainment.
(4) We should go to school late, shouldn’t we?

28. The crops grew well this year. We are happy with profits.

(Combine the sentences using ‘since’)

(1} Since we are happy with profits, the crops this year grew well.
(2) Since the crops grew well this year, we are happy with profits.
(3) The crops since this year grew well, we h are happy this year.

(4) The crops this year grew well, we are happy since with profits.
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29. “Tam sorry, I cannot go with you”. (Identify the expression)
(1) Seeking permission (2) Refusing permission
(3) Expressing inability o (4) Expressing fear

30. Why did the house wife in the fesson “What is My Name’ forget her name?
() Because 'she made scrubbing and swabbing as the chief mission in her life.
(2) Because she became busy with her ofﬁce work

(3) Because she lost her memory. L
(4) Becauseher husband didn’t like her name.

. 31.. Amanwho loves mankind is

(1) Superman 2) Phllanthrop1st (3) Phy51c1st (4) Fatalist
- 320 F111 in the blank with an indefinite pronoun

- is perfect in this world. T -

(1) She : (2) Noome  (3) Myself - (4) He
'33. Change the Voice. ' '

Guru startcd a new business.
(1) Anew business was started by Guru.
(2) A new business has been started by Guru
(3) Guru’s new business was started.
_ (4) Anew business is being started by Guru.’
34. 'Use theright Prepositional Phrases. ' :
. bus strike, I will drop my trip to Mysore. _
(1) Inspiteof (2) Instead of (3) Incaseof . (4) Accordingto

35.  Ray was an aloof and intimidating person for the out51ders
(Identify the synonym of the underlined) -
(1) frightening (2) encouraging (3) intolerate (4) intellectual

36. In the poem ‘A plea for India’, what was the central theme?

(1) Unending violence (2) Riots --
(3). Proud and Confident (4) Unity _

37. He (give) an entrance test before he .(join) Air force.
(1) had give,cntered - (2) gave, enter
(3) hadgiven,entered (4) givenand entered

38. Savitri was awarded the title ‘Mabanati” for her
(1) good number of movies- (2) for her successful direction
(3) for her humanity and generosity (4) forherunbeatable talent

39. What was the father’s urge to his son in “Once Upon A Time’?
(1) Father wants to shake hands with friends.
(2) Father wants to relearn how to laugh.
' (3) Father wants to change faces according to the situation. .
(4) None ofthe above.

V-General English 6-A



40.

Question Paper A l
Booklet Code
Which is NOT a correct statement about Abel Merry weather?

(1) -~ Abel Merry weather stayed some days with Amelia and a part of time with Ehzabeth
(2) Abel Merry weather announced his marriage with J ohn Shorrocks '
(3) Abel Merry weather was dead.

(4) Abel Merry weather wanted to change his will.

41.

Veena is fond. “music. ‘ ' ‘
() to (2) of - (3) by (4) with

42.

Thaven’tgot - apples in my basket. . '
(1) some (2) each : (3) any (4) every

43.

- The Government has declared emergency. (Change the voice)

(1) Emergency has been declared by the Government.
(2) Emergency is declared by the Government.

(3) Emergency is being declared by the Government.
(4) Emergency was declared by the Government.

44,

Some of the students scored low marks in the Exams; , the teacher arranged a
series of remedial classes. , .
(1) sothat (2) because - (3) inspite of (4) consequently

45.

Who influenced Kalam in his childhood that changed his fu’gu.i'e?
(1) Ramanatha Sastry (2) Siva SubramaniaIyer
(3) Youngteacher (4) Kalam’s father

46.

Narayana Murthy was ___by nature. _
(1) selfish. (2) malicious (3) introvert (4) . timid

47.

What does the poet wish to convey through the poem ‘Or Will the Dreamer Wake?’
(1) the desireto wake up the human being.
(2) the people’s reluctance towards the protection of animal world.

(3) the need to stop the extmctlon of animals.
(4) alltheabove

48.

What stopped the narrator from carrying his luggage‘?

(1) the narrators education (2) the narrators white collar job
(3) * the narrators laziness (4) (Dand(2)

49,

What js the one-word substitute for ‘A hand written document’?
(1) manuscript (2) mandocs
(3) newsitem . ' - (4) monologue

50.

The accident sadly resulted the death of a man.

(1) by ) to (3) in (4) into
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PART-I1: BIOLOGY

- 51. Find out the events that occur in the grana of chloroplast
A) Photolysis of water. -

~B) - Trapping of solar energy.
C). " Reduction of carbon dioxide into carbohydrates
D) Formation of. ATP and NADPH.

(1) (A)and(B) - 2) (Cand (D)
- (3) (A),B)and(C) - @) (A),B)and(D)
moeﬁaaaé) o8, Lﬁ“;@’ﬁ‘ 208 Dodobrdes 613601‘,5089 )
L A) - D8 o Dﬁa:éolo Fodko.
B). 698 irohd.
C) sESBEYE vend Hod dargredrr goﬁoédeoo Boddo. -
D) . ATP 5005 NADPH Scydots. SRR
(1) (A) Sdcs» (B) o (2) (C) Hodas» (D) -
_(3)' (A), (B) 08082 (C) - (4) (A), (B) $o8050 (D)

52. Assertion (A): Blood do not coagulate in the haemophrha patrents when they are -
o wounded. -

' Reason (R):  Deficiency of haemoglobm in blood causes over bleedmg
(1) (R) is the correct explanation for (A).
~ (2)- (R)is not the correct explanation for (A).
(3) (A)is incorrect. '
{4) (A)and(R) areincorrect. :
BELS (A): TRrHOSr a‘g@@imosﬂa moﬁaﬁoé S8y 6§o éogdn“ ﬁgééacéo
. 580 (R): 650&3‘ 93”2’):‘&535 5*H0 Sod whE SEFrSo w8k, .
(1) (R) 0556 (A) $ $8G0E DHeo.
(2) (R) ©5088 (A) K 8508 S8 56
C(3) (A) 5088 .
@) (A), (R) 905089 5.

53. The chemical used to observe.mitochondria of cells under microscope.

(1) ~Acetocarmine . (2) . Methylene Blue

(3) Safranin (4) Diazine Green |

Serosd DE*Todairos drGEISt H08D0mHLE BHBrAoN EIoHBE0.
(1) 20E'TEDS - | 2) 2685 oy

@) +@dS @) Go%dS 6S

. V-Biology | 8A



Question Paper A
Booklet Code

54. Match the following.

A _ ' B
i)  Embryology : ‘ a) Fossils
- 1i)  Genetics _ b) Earth
ili) Geology _ ' ¢) Inheritance
iv)  Palacontology d) - Development of adult from egg cell
BoB T8 wEsSF0d. - . '
A B
1) dowaég& T30 : a) Rerwren
i) adogrgo : b) &
if) grigEgo ' L c) elo3ss
iv) dodsro ' d) L?_oj)aﬁeao, &R ) Bodods
(1) (Q)-b, (ii)-c, (iii)-a, (iv)-d (2) (i)-a, (ii)-d, (iii)-c, (iv)-b
- (3) (D-d, (ii)-c, (iii)-b, (iv)-a (4) (i)-c, (ii)-a, (iii)-d, (iv)-b

55. Whichregion of brain controls the hunger signals? _
(1) Cerebrum (2) MidBrain (3) Cerebellum (4) Diencephalon
w5d J08T0H JoLoBo EEIS e A6?
(1) Sy s (2) oy s (3) elododdysn (4) mgsigo
56. Find out the correct statements. ‘
A) Mitosis helps in growth and repair of body. -
.B) Cell division occurs in the Interphase. ' - ' '
C) Meiosis helps to retain same number of chromosomes in all somatic cells of our body.
D) DNA replication occurs in the S-phase. _
() (A)and(By (2) B)and(C)  (3) (A)and(D) . (4) (B)and(D)
R8G0S arsrgoln Hfowod.
A) ¥88 @@53&@ WAlsTent 3’13(55’)3@0& coéa:)eﬁaf‘é ;’ﬁo‘.‘bééoéao&. _
B) @oég%’é‘ g0 Dgiad a2, ,
C) 8 #560S5° wd) 7088 Swrrod’ o8 coomgeS*‘ @‘3:?3%‘50000 € 0%Erd8 EoEden
DeswsS JdSScHddsod.
D) §-&% Soco DNA 9858 28oiho.

(1) (A) %8050 (B) (2) (B) %8050 (C).

- (3) (A) 50050 (D) (4) (B)H08050 (D)

57. The pyramid of biomass is inverted in | ‘

(1) Forest ecosystem (2) Grass land ecosystem
(3) Aquatic ecosystem (4) Desert ecosystem
SoBodoeon ESESI5o8 DEDE HoKHS* wotnod?
(1) o8 Hovgsde 5558 (2) %3 @w:ﬁ@ borgddem Hg39
(3) =noddw 535’3‘{3 (4) dmd HorgSsen 26&‘6%
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60,

58. Flll up the blanks (a) and (b). -
(a) could find their way into human bemgs through food chain. This __ (b)____
-causes various physmloglcal disorders such as hypertension, sporadic fever, renal damage
' nauseaetc., in us. :
(1) (a)- Carbohydrates (b) - Calorle malnutrition
(2) (a)-Heavy metals, (b) - Bio accumulation -
(3) (a) - Proteins, (b) - Protein malnutrition
(4) (a) - Proteins and Fats, (b) - Protein, calorie maInutrltion '
8od g=den (a), (b) 0> Frdowod |
eigerodo oot (a) Sr3HA 4880578 563@;0;530»
& (b)) S0 S8 ofE g5, SRS el Sargdomre §ad, Srodhen
J0EBS I8 T66¢ daﬁ&éoo Senogamomn. :
(D (a) DodderTen (b) -3 00 FASEY eS”Eo::o
- (2) @- @1655503'5@ (b) - BOE SgdarBddn
- (3) (a)- @8I (b) - @56350 FASHEE. S Ho A
4) (a) - @B3es Bodasw Fhgen (b) - @EJw, 358 SEETE S0
~59. Using energy-efficient, appliances in our house comes underwhlch conservation method
of4R’s.
(1) Reduce - (2) Reuse (3) Recycle .(4) Recover
B8 gotst Hgs er Wo BBgTro eR@riothe o 4 ‘R’ 6§?’.g) o“ac"gédea Ho8Ee
Bods 556_090&?‘ ,
(1) &dowHe (2) HIBODHo (3) @é:zﬁ@oﬁoo - (4) 8BA yGisdo
Growing of useful species along the road sides, field bunds and nalas is referredtoas
(1) Broad bed furrow land form ~ (2) Mixed crop method
(3) Contour planting (4) Crop rotation
&g Jowd, Forw #e, stende Jond ﬁacﬁrﬁéfﬁ;’né 008 00 Do HEEJ Qsiaoé.r’da? )
(1) ey ey 50603650 (2) &b@f&’n Hoty Josn aga
(3) srolrE g0 : _ (4) DHodr SrBy&
61. Insects: Trachea : : Birds : ,
(1) Skin : (2) Gills . (3) TTrachea (4) , Lungs
§tosren [ arcioarere Ll Dfen 1 | ‘
(1) 60 (2) Jodyen (3) orcSouaTreren  (4) 208830
62. Name the digestive juice involved in the emulsification of fats. |
(1) Gastric juice (2) Bile juice (3) Saliva (4) Intestinal juice
FYe ADELoS FSI 2Esdo |
(1) =88850 (2) pg8d0 (3) ererueoo (4) woBsdo
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63. Reabsorption of 75% water and useful components occur in

(1) Glomerulus . (2) Proximal convoluted tubule
(3) Loop of Henle : (4) Distal convoluted tubule
75% D& 805 GH0%0E ST IGE P TR0 EHHE.

(1) &8993 o (2) éﬁ’.)oo“)c‘g J059¢ F¢o

(3) =Q 3850 (4) G $0398 ¥o

64. Find out the incorrect sentences. o
.A)  Accumulation of lactic acid causes muscle pains. :
B) * During day time, the rate of respiration is higher than photosynthesis in green plants.
C) Mangrove plants respire through aerial roots.
D) Thediaphragm relaxes to breath air in. _ _
(I) (A) only incorrect , ~ (2) (B)and(C) are incorrect
(3) (A),(B) and (C) are incorrect (4) (B) and (D) are incorrect
D05 Trgols HgoHod. ' :
T A) Sodoros® org§ 850 WHE DS Sodore (S“oajeaéa 5°Ge00.
B) 2468 e, anézreaei" TGO O5FOL0, 8y SodrKigasr Sén Eam) NSRS
T wotod. ‘ |
C) SrofirS Do Toholid 3G o OB BoDH.
D) &8 derdsn IFod $ES® ﬁ:énlajcso md 08 0SE I
(1} (A) S 585765 (2) (B) S08050 (C) 3859
(3) (A), (B) So8asn (C) $85°9) - (4) (B) So8csn (D) H857) -
65. Identify the correct features of arteries.
- A) Blood pressure is low in them.
- B)  They originate from heart and mostly supply oxygenated blood to body parts.

C)  Their walls are thick with valves.
D) They canretain their shape, even when the blood flow is absent.

(1) (A)and(B) (2) (A),(B)and (C)

(3) (Aand(C) (4). (B) and(D)

$ode B $od wfsrody HEowod.

A) 8§ T¥op SEdES0 S5 K.

B) %2 ri:oa $008% JHE, IS ST w§ias wdgomr ﬁ:égl déoéo 88 e,rn‘eaéo :odq)cr'
W00,

C) béS Fen Sooomr 00050 Eartrad® &odrow.

D) d¥o Boiroddyd Sra & Sivered o83 V5o Q) @ De0)B0Lro0.

(1) (A)So8cs0 (B) - (2) (A),(B) S8as0 (C)

(3) (A) %0050 (C) (4) (B) $s805 (D)
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. 66

'When we touch the leaves of Mimosa pudica they are closed? This isan example for ..

(1) Phototropism . . (2) Chemotropism
(3) Thigmotropism - " (4). Hydrotropism ‘
DS (@é’aoa@) es&b;éa K085 @éé @ mocsoz:ﬁoéo@ﬁ@**oao 28 B8 w8
GO ardn? '

(1) w08 essso () Sarc%imssgso

3) Hoyosgso | @) o8 wsosgso

67.

Identify whether the given statements are true (or) false.

- A)  Many plants synthesize secondary metabolltes and store them i in 1t 10 protect from

“herbivores.
B) - Oxygencanbe con31dered as a waste product in plants durmg photosynthes1s
(1) (A)istrue - S (2) (B)istrue : :
(3) (A)and (B)are true c (4) (A)and(B)are false

- RgdS FEgeo $985, 55 Kgotod.
) TrSHe ol g Focotags, o Ebaéboo &Séoﬁa éa’)@oﬁr ﬁ%@e;ﬁa;

éodrdoiﬁmﬁ‘&) T8S* dexg S0 0.,
B) ﬁoaébe)é‘ §Smaiy aodaw‘i@oﬁo 2SR & :,56‘) @éJaSéo 584 acﬁdom

: 065850158’)!53‘)353
(1) (A) S ST ta (@) _(B) ;ﬁr@ﬁ;{b STl
(3) (A) S080%» (B) ST ' (4) (A)S08c%0 (B) oo 38570
68. Blood capillaries were discovered by- : ' :
- (1) William Harvey . (2) Marcello Malphighi
(3) Stephen Hales -(4) Girolamo Fabrict
5584980 EHMIZE ST . -
(1) 2&c%0 H73s (2) S3%)e Sordys
o (3) ¥RS WY . (4) Dodr FOD
69. Find out the correct natural pest control methods in the organic farming.
A)  Spraying organic oils - B) Introducing natural predators
€) * Using chemical pesticides. D) Crop rotation and Mixed crops
(1) (Ayand(C) - (2) B)and(®D)
(3) (A),(B)and(C) (4) (A),(B)and (D)

Dodck Sgdaraos’ re3oB JBE Sire D Horho darde Hgdod Hgowsod,
A) éd?)éé Srded zed ’
B) ®&zomr og)do{be);ﬁa 83 §éas1’e3:63 ©IFTDERE

C)  Sarcsdd HSih dodod Fdb

D) $ot Sr8yd $0ckn AFs Hoked Jokwd - :
(1) (A) 80 (C) @) (B) S0 (D)
(3) (A), (B) So8050 (C) (4) (A), (B) So0as» (D)
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70. Which sexually transmitted disease is caused by Bacteria? - o
(1) AIDS (2) Chickenpox (3) Gonorrhoea  (4) Typhoid
2r§BOSr e DoE0T BoAE wokd TgH NB? .
(1) Qo) (2)  sholoy (3)  KJ3ocsr (4) 8Baroxn&
71. Match the following. _ . B
A - : B _
i) Cytokinins . - a) Elongation of stems
ii) . Gibberellins . b)  Seed dormancy
iii) Abscisic acid - ¢) Ripening of fruits
iv) Ethylene d) Delay the aging of leaves
808 T30 2EDES0R. ' :
A : : B o
) &8I a) sodo PES580
i) 2008 | | b)) gz sy
i) wfpRE elo _ C) Doren J0IsYI8 ooSdo
V) 508 ‘ d) e oo Bobod
(1) (i)-d, (ii)-a, (iii)-b, (iv)-c @) (i), (ii)-b, (iii)-a, (iv)-c
(3) (i)-b, (ii)-¢, (iii)~d, (iv)-a 4y (i)-b, (i)-a, (iii)-d, (iv)-c
72. Assertion (A) : The peripheral part of brain has white matter. _
~ Reason(R):  Nerve cell bodies and capillaries together form white matter.
(1) (R)is the correct explanation for (A). (2) (R)isnotthe correct explanation for (A). °
(3) (A)is not correct. (4) (A) and (R) are not correct.
@8RS (A): Ed w0l IS 80 Bokd oo onoh.
560 (R) 1 b Beo Bibten 50050 SE8FTHEen K% Band Soih @rogoi DEne.
(1) R) 0558 (A) & DBGDE Adea.  (2) (R) o0dd (A) % 5008 DSdeo 5.
(3) (A) 508056 57¢%. " _ (4) (A) H08050 (R) &0 H0G0HID 5.
73. Cocaine is obtained from plant. ‘ -
(1) Cinchona (2) Tobacco (3) Opium: (4) Coffee
533 0 o), S008 BHY vH&H8? ' g
(1) 2ofa (2) & (3) SgBoss (4) b
74, Colostrum is essential to improve . in infants.
(1) Blood circulation (2)  Immunity
(3) Respirationrate = (4) Excretion
Sderd oS ____hothhd Sughdres osgdigEso.
(1) 8§ Hdse (2) TgoRTEES
(3) wgdEose Bew. (4) %8s
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5.

" Which accessory excretory organ involves in the excretion of excess salts of Calcium,
Magnesium and Iron? ‘ _

(1) LargelIntestine (2) Lungs ~ (3) Liver- -  (4) Skin

A @(‘Soaaocé D‘ods%oti)aﬁ;ﬁw of¥or ) 5°Hso, Boﬁclamo $08050 P8O oéwoéa
DBPothers” reTotnod:

'(1) o)c‘.SLo)(b (2) ém&é’%éoen (3) S“;éoﬁu .-'(4) : zﬁd@}o

76.

Fill up the blanks. :
. (a)_._located outside the abdomlnal cav1ty w1th1n a pouch like structure ()

are producedin __ (c)- by meiosis. Later they are stored in __ (d)__
(1) (a)-Ovaries, (b)-Ova, (c)-Fallopian tubes, (d)-Uterus

(2) (a)-Sperms, (b)-Testls (c)-Epididymis, (d)-Seminiferous tubules
(3) (2)-Uterus, (b)-Ova, (c)-Ovaries, (d)-Fallopian tubes

~(4) - (a)-Testis, (b)-Sperms, (c) Semlnlferous tubules (d)-Epldldylms
5ded Hrdokod '

() . r}fﬁd&méo 20508 HoD $o8 JoYEOS” &odro. (b)_ go0gser |
defes wgor, (o) S &g @;ﬁ)@*’ooa e ©d _ (d)_ & dex
€50&3°00. '

" (1) (a)wowsdsres, (b)-womeo, (c)-3 o) ést a*’m§e (d)-rioyyFoso

(2) (a)-DEgmren, (b)-S0dy e, (€)-I2&&R, (d)- A S9Een
(3) (a)-ivrydaso, (b)-worren, (¢)-womwidsreo, (d) @&afaﬁmgw
(4) (@)-Soffewen, (b)-HEsearw, (0)-DE ST, (d)-DDBADD

77..

In which phylum, excretory organs first time appear?
(1) Protozoa (2) Platyhelminthes (3) Annelids  (4) - Arthropoda
Q $goS* JvPsTored IEHFOm QD 0?

'(l) (et (2) 8opas (3) @Bé’)w @ e@;ﬁ"w"

78.

Expand [UCN :

(D Indian Union for Clean Nature

(2). Indian Union for Conservation of Natural Gas .
(3) International Union for Conservation of Nature
(4) International Union for Clean Nature

JUCN % 946%B0ots0d.

(1) =8cH D) BEB SN

(2) =BcH dFRTcio HOSED DN
(3) wosTBoH BES HBEED SN

- (4) oodT 80D 26515‘) BES 08

V-Biology - 14-A
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79. In which mode of Nutrition that living orgamsms obtain their food from the dead and
decaying organic matter?
(1) Autotrophic Nutrition (2) Séprbphytic Nutrition
(3) Symbiotic Nutrition (4) Parasitic Nutrition
) DS A", 2Hhoo S @a*’o*'&)ul WADFoNS Sobakn &@Qé 88 oac:i"c‘o Ssod
(feraron?
(1) Sgodo Fisred® Fde 2) J8sFHos Fie
(3) 3HESB0 wkhY EHost Fhe @) 508 EHos® Fhe
80. Identify the renewable energy resources. |
A) Fossil fuels B) Solarenergy
C) Windenergy ‘D) Nuclear Energy
(1) (A)and(B) (2) B)and(C)
(3) (B),(C)and(D). (4) (B)and(D)
VIBSNGE 9§ SShes Hgowod, |
A) 3oz Rodaren B) ®si§
C) %5548 ' D) 0§
(1) (A) 800 (B) (2) (B) S8 (C)
() (B), (C)sodaesn (D) (4) (B)Sodoss (D)
81. Match the following.
A _ B
i)  Amoeba a) Pulsatile vessel
it) Hydra b) Gastro vascular cavity
iit) FEarth worm ¢} Brownian movements
- iv)  Cockroach , d) Pulsatile organ
Eod T8 2835Tod. -
A B
) eoder a) . Hof'NoT ar¥o
i) e b) 288 B3 6o
i) ordrsw C) FIHS Sodso
iv) 5°gof d) HosDodF ardo S0 Hod
() (-b, (i)-a, (ii)-d, (iv)-c (2) (Q)-c, (i)-a, (iii)-b, (iv)-d
(3) ()=, (ii)-b, (iii)-a, (iv)-d (4) (i)-b, (ii)-d, (iii)-a, (iv)-c
V-Biology 15-A
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82.

Fmd out the correct sentencer/s.
A)  ‘Niche’ denotes animal’s posmon and mode of life in the food web.

B) - ‘Pyramld of energy’ denotes the flow of energy - from consumers to producers
() i is correct - T (2) (B)iscofrect :

(3) (A)and (B)are cotrect - (4) (A)and (B) are 1ncorrect

STl mégo/ms*seéa maoﬁoé '

A) (‘015’ B3 B0, @a‘dwoéoeﬁ“ aoéoc‘é) o?oaézf B0 @‘a"f{h 353601533 oo BBS 2):5“260:&3 |
| 300%E508.

B) “48 HOE" wssd 3)&)0?01665"63&3 S0l ﬁréo)@a“d:o& s‘afé @ﬁl"o*&)ol wamo&

(D (A)caaasc-a ' : j . (2) (B)oaesas

83,

(3) (A) %0055 (B)a‘c}é&') (4) (A)a’)aaoﬁco (B) 6252 =%

'Flll up the blanks.

By _ (a)__ process, plants absorb water from soil through (b)_': Later water moves

' finally to Xylem celis. This continuous accumulation of water creates __(c)___.Ithelps

to move water upwards continuously in plants.

(1) (a)-Root hairs, (b)-Root pressure, (c)-Osmosis
(2) (a) Root hairs, (b)- Osmosis, (¢)-Root pressure
(3) (a) -Root pressure, (b)- Root hairs, (¢)-Osmosis
(4) (a) -Osmosis, (b) Root hairs, (c)-Root pressure

ol Jrootod,

(2 B8 oHisood, mgz,oo 580 Jo $0d __(b)_ @ (e
Soard D& DB THSmross B&0d. aur Jfoddor dH Bodo S0l
(c) Dyhdrok. wbd adoéo‘pﬁaom D Do o' P8 IHEIE B0

Wdxodh.

(1) (a)-Soredzos, (b)) 036550 (c) T iAtTet=)

T (2) (a)-dwredmen, (b)-EHd8m, (C)-BhdhdSo

(3) ' (a)-3&5hds0, (b)-Soruszes, (CHETHICD
(4) (2)-BTDHd8e, (b)-Sarodres, (0)-Ibdso

34.

Percentage of Oxygen in the exhaled air is
S0 J6T mdS® wEsS TEo Jod?

(1 78 2) 21 (3) 16 @) 44

V-Biology - | 16-A
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85. Filluptheblanks.
Drip irrigation can reduce the water consumptionby __ (a) . . But unfortunately only
__(b)_: of cultivable land around the world is irrigated in this manner.

7ol QI"BOzﬁO(fe ‘ _
Do g0 wHey Bohdo Sold _ (@) JBY 2 Behrdm. 08 H0d
TrH0 ©oIHYBE SRS TE) Hhow arghor 58 $soo _ (b) SgddrodH
Frinod® SrEd & oo wden akded. '

(1) (@-70%, (b)-2%. (2) (a)-90%; (b)-5%
B) (2)-50%, (b)-2% (4) (a)-60%, (b)-1%
86. Pollen grains of which plant cause asthma and skin allergy?
(1) Basil o (2) Duckweed
(3) Partbenium . (4) Hibiscus _
D g, Ewk, HoidmPes BHEr DO BB HESee SdAZm.
(1) Sod (2) 45 5&
(3) -&>fcfo T (4) Doy

87. Identify whether the given statement/s True (or) False.
' A) Placenta provides nourishment for the developing Embryo.

-B) Acrosome produces the energy for the movement of sperm cells.
(1) (Aistre . 2) (B)istrue

(3) (A)and (B)aretrue ~ " (4) (A)and (B) are false
250233 TrEgo/TrErgen KOS 57& HQowod.

A)  2morcsng Sor Seadh, 5)3 Bot Sotod FHesd @oamo&s
B) ®Eswre Sososk TEodS 389, BEPS e Tdod.

(1) (A)sSsse - (2) (B) %58
(3) (A) So8oso (B) 352 (4) (A) 508050 (B) 0 $35D 5
88. Breakdown of Glucose molecules into Lactlc acids reaction occurs in _ part
the cell. '
(1) Mitochondria . , (2) Chloroplast
(3) Nucleus. (4) Cytoplasm
£0065°D 2 grifoes?, (irgsé' WP, TrEFErenT Srd FE§ wrdS.
(1) De'sodosir T Q) Sbsteny
(3) sSogso (4) 8o $Sg0

V-Biology . 17-A -
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89. Match the following. .
' A . - B

i)  Tannins - a) Adhesiveagent
ii) Resins o . b} Rubber
. i) Gums .- o ¢) Tanning of leather
iv) Latex - ‘ 'd)  Manufacture of Varishes
Bod T8I 2BDEWod. : :
A - . B , ,
i) erdSe : o a) Bodof 5680
ii) oTdIew b)) Sy
iii) =Ko L L ©), 8 Doy Bohdod
iv) 3885 ' . d) soRe $o5rd
(1) (@)rd, Gi)e Giiya, ()b (2) (@)-c, ()4, (i), (iv)-b

- () (@b, Gi)e, (iD)-d, (v)-a @ (e, (iD)-a, (iii)-d, (iv)-b
90, Fill up the blanks. | | | -
* In flowering plants, during sexual reproduction, one of the male gamete fertilizes with

__(a)__ and forms __(b)__. The other male gamete fuses with the . _(c)___and
forms __(d) - . This called double fertilization. ‘ _

(1) (a)-Secondary nuclei, (b)-Zygote, (c)-Egg cell, (d)-Endosperm
(2) (a)-Eggecell, (b)-Zygote, (c')-Secoridary' nuclei, (d)-Endosperm
(3) (a)-Egg cell, (b)-Endosperm, (c)-Secondary nuclei, (d)-Zygote
(4) (a)-Zygote, (b)-Endosperm, (c)-Egg cell, (d)-Secondary nuclei
90 drootod o | |
Dot Ik 0", BohE BB 2rbIYL, 2.8 Hh Dulowo_- (a) & Hobsben
202 _ (b)___ S DE)05308. Bogs bR Huwo (c) & So@rio Bod
_(d)_ %0 5o, HIT ‘Brpodidn’ wofid.
(1) (2)-8380% Soigsso, (b)-voosng Hao, (o)-@beasmo, (d)-wossHso
(2) (a)-@ﬁ)aéeao, (b)-H00508 Dao, (c)-B3BH BolgEo, (d)-wosastyso
(3) '(a)—@&aémo, (b)-wosasufysso (c)-Bs80% Boso, (d)-Hoosng Dao
(4) (a)-doosng deo, (b)-wossfydo, (c)-RHesmo, (d)-BsdoH Solsgo
91. The most poisonous waste product of all the wastes produced in our body is .
(1) Carbondioxide (2) Uricacid (3)" Ammonia - (4) Bile pigments’
B08 $86085" @SBy Sgrootdiir wdgod Ddeogd Sg¢ Hurgo 08?
(1) 58S 3 ¥g)f (2) o585 wdyo (3) wdrpPose  (4) DEFED SEsren

V-Biology = _ 18-A
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92. Modern artificial propagation method is _
(1) Cutting - (2) Layering (3)  Grafting (4) Tissue culture
OHTES GO THITSE 548 DB? | |
(1) FPsdo (2) wotnFsyd (3) wokosine  (4) Seoere 3¢S0
93:. Match the following. : |
A B’ .
i)  Inheritance of acquired characters - . a)  Charles Darwin
ii)  Natural selection b) Charles Lyell
iit) Population theory- ' ¢) Lamark
. iv)} Principle of Geology d) Malthus
§od B BEHEHOB,
A | B
D) 08 Hero vhHsos a) 905 @ogsS
ii) @é‘)@ S0 b) 9% 8S
i) o dEposo E c) oErG)
V) adiro dr@ren ) d) - Soerd
(1) (i)-b, (ii)-c, (iii)-a, (iv)-d (2) (i)-c, (ii)-a, (iii)-d, (iv)-b
3) (i), (ii)-b, (ii)-d, (iv)-a . (4) (i)-d, (ii)-a, (iii)-b, (iv)-c
94. Assertion (A): Carbohydrates are not digested in the Stomach.
Reason (R):  HCImakes the food acidic. ' 7
(1) (R) is the correct explanation for (A). (2) (R)isthe incorrect explanation for (A).
(3) Both (A)and (R) are incorrect. (4) Only (R) is correct.
@E0S (A):  Eg¥chododk doddarges 2o 57!
s6wo (R):  HCl e50d) efoosngo Ddgod:
(1) R) 05058 (A) H 3008 2880, (2) R) 05058 (A) S H0@0d IS8 sk,
L (3) (A), R) oo %6505 59 @) R) smgH 8356,
95.  Which pair of factors represent the dominant and Homozygous tall character in the given

table?
NS DHPES® g, Socsoifn FEY oFmoi 1:50“’503 o5 238 JO?

$°" T T
T |TT| Tt
t [T |t
(1) TT. @) Tt (3) (T @) u

V—Blology : 19-A
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96. The female gametophyte of the flowering plant is e o
(1) Eggcell (2) Zygote (3) Embryo (4) Embryo-sac
‘ Q)QQO?;’)O 3::o§2,ese$‘ ) 5 %odrK Hado o FAD ©osrEr? | '\
1) & Hageo (2) %oosng Do (3) Dose | (4) Hodsdo.-
97. Which s not aparamte? : ' . .' o
. (1) Leech (2) Tapeworm - (3) Cuscuta (4 Mushiroom
DoE) 4D T8 28?7 N o '
(1) =eoi . . - o S (2) @B K
“(3) énaozréa (a:on'cfoesaﬁ) ' (4) JLrdar
Assertion (A): Genetic drift provides diversity in the population.
' Reason {R):  Variations in the population may happen during sexual reproductlon and
DNA copying errots.
(1) (R)is the correct explanation for A (2) ®)i is notthe correct explanatlon for (A) :
(3) (A)iswrong. 4) R)is correct

BE0S (A)r ey dFHSo aTers® 308 wradK00. ‘
s°6wo (R): Bong @éogéo)e?a 23S Y SoBosm DNA @888 aad)r‘iaéog)céa E\G

- Stro S0l 335‘503 ngcée:é'“on

() (A) % (R) 60 356 (2) (A) % (R) 568 D5

.99,

(3) (A) 685086 5o - L (@) (R) 50050

-The given diagram indicates

(1) Bark

(2) Lenticel

(3) Stomata _

(4) Pneumatophore

'az?.)t)é Do S drddgod.
(1) B8 |

(2) BoBS

(3) [ Ggsoo

(4) Srghots's

100.

Who proved that the spinal cord was also a control centre along with Brain?

“A) Charles Bell B) Francois Magendie
C) Leonardo da Vinci : D) Stephen Hales
(1) (A)and(B) - (2) (A)and(C)
(3) (C)and(D) (4) (A)and(D)
D S IS S Qobo@e Boorr H Bidyod. © DETDODI ST
A) @99 BS ' "~ B) (groffond R0
C) O&rag waRY D) {23 s
(1) (A)Sodaso (B) - (2) (A) Sod0s0 (C)
(3) (C) $odus» (D) | (4) (A) H00030 (D)
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101.

PART -1I1: PHYSICAL SCIENCES

IfA,B,Care under thermal contact then in which of the following condition heat will be
- transferred from A to both B and C.

(1) Temperature of A, B are less than C

(3) Temperature of B, C are less than A
A, B, Cen &0% H)9)s* etond §od ads® D

Bo&o&3s 285K,

(1) A,Bo sas Csay e‘§§02r5’)
(3) B,Co asiis Ao 8505

(2) Temperature of A, B are more than C
(4) Temperature of B, C are.more than A

(2) A,Bo a3 C 8o 898
(4) B,Co &g Agay) D:‘éozr;

‘oocsqgoeﬁ* o A &od) B,Ceo

102. | Material A B C D
| Specific heat in cal/g-°C 0.095 - 0.115 0.21 i 0.031
From the above table which one of the material has more reluctance towards change in
temperature _ - ‘
Sego - A | B C ] D
'aeasgo 358/ -°C 0.095 0.115 0.21 0.031
D 8K oD D KT SIS SPESE IS DZ0PE $Y S0tod.
(1) A 2) B 3) C (4) D
103. Dogs panting on hot days the basic physical phenomena in it is .
(1) Evaporation (2) Condensation (3) Freezing (4) Melting
S&m &) Frods® Lo Trel eao:foé.ago ﬁo::ia@*’un (Eﬁa‘ SR 0»). BAS* )
@G0 F'8E yicacdo |
(1) erayyaEsso (2) :‘C‘Po@édmo (3) DodesHdo (4) fofetete
104. 1 calorie is equal to Joules.
1 35°8 T Himso. \
(1) 4.186x10° (2) 41.86 x 103 (3) 4.186 (4) 418.6 x 10
105.

The heat energy required to change 10 g of ice at —10°C into water vapour at 100°C is
(at 1 atmospheric pressure) ‘ »

(1) 7250 calories (2) 7250 K calories

(3) 9250 calories (4) 9250 K calories

-10°C 5::553.6:_1 10 raoon SoowHss 100°C 5¢ do A3 edB Srsg)eosd 25D &9
(1 D608 < He%So 5E)

(1) 7250 35*6en

(3) 9250 8&5*6ew

(2) 7250 §3%6e0
(4) 9250 83S*Ben

V-Phy.Sciences
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106. The value of latent heat of vaporisation of water is

(1) 540 calories/gm . (2). 540K calones/gram :
(3) 80 calories/gm _ (4) 80K calories/gm
D eSS fodgo Deod . S |
(1) 540 8*6eo/gro. - (2) 540 83S*Ben/ro.
(3) 803*Beu/gro. .‘ ©(4) 80 §ZS*Ben/yo.

107. The visible colour part of eye is - , o
(1) ‘cornea - (2) iris . (3) retina (4) aqueous humor
Eot3e5* E5a% Yo |Frodo U |
(1) =85 (2) ©05 " (3) 3> . 4) - 3E'ss 5o

108. Real images are alwayé _ o : o
(1) - can be traced on screen, erected (2)- can’t be traced on screen, erected

" (3) canbetraced onscreen, inverted | (4) can’tbe traced on screen, inverted
Qe -@@a’.)oaab AYIYE> _ ) R ,
(1) 88 e diyifwo, Jrdd Q) 88 Do vy, A
(3) B8 D& diKwo, SogotHen (4) B8 o S&Bo, SogoHed

109. Mirages formed due to | _

(1) Dew - . (2) Fog
(3) Total internal reﬂectlon . (4) Scattering

‘ dodsrHes YLD TEe00 - - '

(1) Srdo ’ (2) S0
(3) Sorgods 0301:66(‘60 | 4) éaéﬁeéo

110.

Which letter represents angle of deviation in the above diagram?

(1) K (2) LandN G) M (4) P
D H00s* 3 wEbo Jifed Fwrd) Srddos?
(1) K (2) L&dssoN (3) M @4 P
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111. iy \1(] ’ A
| wp .12 -

F\SA | :

M3 | F‘\ . .

C

Refractive indices of A, B, C are i, [y, [, respectlvely Ll= .42 £3> 4, then which of
the following relation is correct?

A, B, Co @n&) 584558 foeasren 560@(? My o Myt L1 = L2, £3> /4 wond L@o&)
FAS* D doodo Segon.

D e Q) W<t () WEi <, 4) p=w, M<K
112. Anobjectis placed at 20 cm before a biconvex lens havmg focal length of 10 cm. Then it’s

image formed from the lens. .
(1) atl0cm. ' - ‘ (2) between 10cmand20 cm
(3) at20cm ' (4) beyond20cm
. 10cmeo meﬁgoééo o 28 Bsgoogrss §érdo Swoth 20 cme $5008H 28 ;,Sm:@ L0008
o @e‘.‘éijoaoo o Sod A8 o&08.
(1) 10%0.5. o 5 (2) 10%o0.20. o, 20 Do.do. E‘J§3 So63g
(3) 200.do. © 8¢ (4) 200, o wSe

113. A glass slab of thickness of ‘#’ and having refractive index as ¢ w. Ifitis kept in the path of
light ray. Then the shift (Ax) of ray is

T oo Ko e doF W SBSSS Kesd) é@ﬁ “od. A 5708 86w Hrfos’
%008 @ 88w b (Ax) = :

] i B |
ey #(l"ﬂ (2) t(l—;—] (3) Hu-1) (4). p(t~1)

114. The power of a convex lens of focal length 50 ¢m is D.
50 20.3%. TEgoBE0 He uf Hogrss geo¥ FBoggo D.
@ s . @) 50 (3) 2 “4) 3

115. Which one of the following will have the choice to be the wavé length of violet colour in
VIBGVOR?
@o& T0e° B8 VIBGVOR &Koy #earsoid cﬁoaézr S60rBY g0 ey wlsdo v
(1) 79004 (2) 6000A (3) 4800A (4) 4000A
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116. The image of OO' forms
(1) At2F;
(2) AtF, | - - -
(3) BetweenF,,2F, | S 0 4
(4) Beyond2F, . | I |

- 00" Qoo @&howo ] NI SH R —e—1—4
(1) "2F, 58 . 2F Fi.

(3) F,, 2F,® Sog
4) 2F,% oo

(2) F,3¢ ' " | - v

117. 24, 3Q, 4'(; are connected in. series then the r@sultantresi‘stancé is
20, 3Q, 4Q 0% @8 dogrsoss® E008 HdE G0
| | " 12

O @ % e pe o

13

12

118. S.I. unit of Electric Current Q)is |
(1) Ampere (2) . Ohm - (3) Volt (4)
- Dgd Padro (i) Do, S'.I: @R3r00

(1) wodews () &5 @) Sfoy @

Hertz

119. V'Which of following represents ohmics in graphs?
808 TAS® LDoairedn drdod (TD 87
1», . ‘ A

w 1| | @ | \

I

V— : SV

® | o B
' L
vV— ' V—
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120. The resistance of a conductmg wire is R. What will be the resistance ifit’s length is doubled_.
' and area of cross section is halved?

w8 TIrE 85 Qg TEe R. ord FEHES Doy WX, mdga‘)é 3?@3&)& I

0(’5‘38 {05‘(:50 Does?

1, - 1
m@®R @ R 3 2R @ 3R
121. Electric Power (P) =
Ddage’f@éaggo Py=
VA | Vi PR
1) — 2 : — 4) PR
Ol N ®» 5  Gm
122. Tesla means
B odm
Wb , ) _ Wh
() — (2) Wb-m? ., 3 —. . (4) Wb-m
m m .
'123. Which of the following is not an application of Faraday’s law.
(1) Incandescentbulb (2) ATMcard
(3) Head in Tape recorder (4) Inductionstove
808 TS D& 8T AcHH0 BN, BKISLBO T
(1) &30 wog) (2) ATM=8
(3) B osyYss’ bk (4) =20dES g

- 124. Magnetic field force on a chérge,'moving paralle] to the magneti;: field (6 = 0)
(1) 1 - (2) © (3 -1 . (4) Infinite
oA 08 FE 08 Siroddor 68 wf edfop Ho '@oﬁo@%oéﬁ 38 2oo (0 =0)

1 1 @0 3) -1 @) esoso

125. The enlarged form of rms (In Electromagnetisin)
‘ (D&gdoﬁa%oééﬁgoé‘) rms S3008), DYYE Erdo
(1) right mid square. (2) rootmid square
(3) right mean square ' -(4) root mean square -
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126. Read the following and choose correct optlon Select common propertles for both Ac1d
"and base from the following. ' . E

a)  Reaction with metals produce Hydrogen gas.
b) * Reaction with metal Carbonates produce Carbon dioxide gas
¢)  Conduct electricity in aqueous state.

~d) - Colour will change with phenolphthalein indicator.

(1) only (c) is correct (2) (a), (b) aré correct
(3) (a), (c) are correct ‘ (4) ‘(a), (b), (c) (d) are correct -

§od B HHD Hodatn HOGHS JIrgrard .DE&)J_E‘O& Bod ¢l Kook w0 $5B0%0
g0 Dobotd8 e tdd ool D5)F0d.

a) &SFos 1565 TERS TABNH GSS z'.:"moo&

b) ' s8\EEed S8 ThHS 3 €BE TonHH S z'f:nno&

¢) o EHo PES® DgES BIeroHEIo0.

d) DTRdS SrDES oy Brtrarawn. . |

(1) (c) g $8&0Sh (2) (a),(b) o0 HBDOID

(3) (), (c) & $BGHD @ (@ 0) (), (@) e 50D
127. Which of the following will produce acidic salt on neutralization with H,SO,,..

H,80, & ééo:o§c$ea B8y Sod vl o) & @Ko& TAS* DB ﬁébé 50‘50(‘1&3653
(1) HCI (2) CH, COOH (3) HNO, (4) Mg(CH),

128.

On adding few drops of universal indicator to three unknown colourless solutions (X), (Y) and
(Z) taken separately in three test tubes. Tulasi observed that the changes in colour as green in
(X), red in (Y) and blue in (Z). The decreasmg order of pH of the taken solutions is

Barcho H8E a@E0s* (X), (Y), (Z) & g 8005, SorHB Bordhy (heTeold §‘&)°1

& © FEySE BrDED Eeodr, (X) S° edob), (Y) SF A5H Sodahn (Z) &° &80

SrEER) Sod K5H0D08. kks) wdare pH dide E0 .
() X>Y>Z - (2) Y>Z>X (3) Y>X>Z (4) Z>X>Y

129.

Identify the incorrect statement from the following.
(1) Universal indicator is used to know the strength of acid or base

(2) As the pH value increases from 7 to 14, concentration of [H'] ions in the solution

increases.

(3) Higher the hydronium ion concentration lower the pH value.
(4) pH value of a solittion is less than 7, it is acidic in nature.
1§od TAS® BB 5°A 57 HBowod.

(1) r6q@% drdES edo Bor grdo B, oo @wmg"éaéaév GHB AL,
(2) pHens 7 Sood 14.§> IR Fod, Trdwos’ [H+] WOSTE e DEHS0B.
(3) R0 WasrS mEE DONE pH Dend Srdood. -

(4) pH Dend 7 508 $5S Ko (@ do wl) Sgarard) 04 &odood.
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'130. Find the wave length of a photon in nano meters with energy of 3 x 1072 erg.
3 x 10712 QS&J 48 fo o8 PFird R, ddof Bor 55{):1 o fbéaé‘oeS" §€63§‘2Ioc?9
[h=6. 6256 x 1077 erg-sec; C=3 x 108 m/s] .
(1) 66.2 (2) 662 . (3) 1324 4) 6.62

131. Choose the correct set of quantum numbers of the differentiating electron of a neutral
calcium atom.
éém 5°9 050 DESE0 D) &ws’b 536503655 QULEJS R0, :o@cﬁo;é s*’agoéao ROPO JSABR
326%15505

(1) n=4,l=0,mL=1,mS:+% - (2) n=4,l=0,mL=0,ms=——;—
- | . »
(3) n:4=l:0=m[,=05ms=0 ‘ (4) ,n=4,l:1,mL :O,ms=—§
132. Which of the following pair is not containing equal number of electrons?
1808 IS 28 Sopgst JogSess §Oh $o8d ad 8?7 ‘
(I) N0 . (2) Na',C* - (3) FLAPY (4) Mg*, 0%

133. The electronic configuration of an ion A?* is 2, 8 14. Ifits mass number is 56, the number
of neutrons in its nucleus are :

28 A 03rS Qoof), JOIFS dTgHo 2, 8, 14. ) (555078 Dopg 56 wond o Soigos”
e :631'8@315&3 Sopg ) _
(1) 32 (2) 42 (3) 30 (4) 56

134. Three elements P, Q and R have atomic numbers Z, Z— 1 and Z + 2 respectively. P is the noble
gas. The formula of compound formed between Q and R will be

P, Q 58050 R o3 Sird Soroste 08rea Sopgen $6Hdm Z, Z — 1 5360533 Z+2
P w8d) sraind. Q Sdosn R e Hogy 28R B0 Doy Frdye
(1) QR, @ RQ, . () RQ, 4) QR

135. Which of the following metal was not placed in the eighth group of the modified
Mendeleev’s periodic table?

(1) Sodium (2) Nickel - (3) Platinum (4) TIron

& 808 TS :oéﬁozﬁeac%a’a B00603 e:s;ﬁd:é DPES® IDD0ES Ylry Sodsd &oBED S0
2B. -

(1) a&%H0 (2) NELST ‘ (3) TS0 (4) 2dd»
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136. How many of the followmg statements are not true regardmg long fonn of perlodlc table'?
a) . ‘Phosphorus is the only non metal in 15™ group. '
" b) Elementsinl, group are metallic in nature. _
‘c)  The metal present in Chalcogen family is Tellurium.

d)y Halogen group is the only group in the perlodlc table (long form) without any metal
present in it. :

" D_q)é @S58% aéﬂééa :ooaao&)of) éa @o&s T8 Q:‘Oﬁl TEge coe‘égo 5°e0.
L) 1585 @rHst fo 88 odtEro el |
b)) I, ot o Swrosted S5 Bearsodo $0A f.%oér-o.n
L) TSRS §>é.x>oaaoe5* Ho 'm0 Beorddko.
d) DY wIES $GES* SHoB JBE @bvog) HS5*aS B,
RO T @ 2 - . 3 ) 4

137. The elements A, B, C, D and E hav1ng atomic numbers 9 10,11, 12 and 17 respectlvely,
- then the mcreasmg order of atomic radii is

A, B, C,D $005» E Saresten Shdme 9, 10, 11, 12 Hodaio 17 H8Bre Sopgeo SO
& T00. oS T JEBTe0 HOITE0 28R 1ES00

(1) B<A<E<D<C \ (2) B<A<E<C<D

(3) A<B<C<E<D @) B<A<C<E<D

138. Number of elements ﬁresent in the second period of modern periodic table
$DS 555 HBE Soch 25 HBHES® Ko Sorese dopg :
(1) 2 (2) 8 ' (3) 18 S (4y 32

139. Formula of a Metallic oxide is M, O,. The formula of its phosphate will be
W S @& > M,0;. & @"fou)és T : '
(1) MpPO, (2) MPO, (3) M, (PO, (4) M;(PO,),

140. What is the covalency of Oxygen atom in water molecule?
HE LSt ©8S FSrEH DY, HoRradHS (FBo) aoé?
(1) 2 , 2 4 “(3) 6 4) 8

141. Which of the following is an electron deficient molecule?
& 800 TRS* JogS TS Ho v I6? . ,
(1) NH, ' (2) BF, (3) CH - (4) HO
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142. The electronic. 'conﬁgurations of four elements A, B, C and D respectively 1s? 252 2p° 352 3p°,
15?252 2p° 35%, 15% 25° 2p° 3s' and 15?252 2p". The formulae of ionic compounds formed
between these elements are

A,B,C%8ain D 3 Tread Srose Jogs dargdros $6dm 1s? 252 2p° 3%, 152
252 2p5 352, 152 25% 2p% 3s! Sobasn 152 252 2p% & Swrosre $¢g D6\E woirdE
dd¥are P

(1) CA,AB,,C,D,BD - (2) CA,BA, CD,,BD
(3) C,A,BA,,C,D,BD (4 CA,BA,,C,D,BD
143. Miatch the following. |
Ore ' . Metal
A) Pyrolusite ' 1)  Magnesium
B) Magnetite if) Sodium
- O Limé stone - iii) Iron
D) Haematite - . ~iv)  Calcium

V) - Manganese
§od T8 =EHEWod, ,
D) : 3 SPoleR

CA) wforgpd - o 1) - Sofiyhodo

B) SotBe N i) @Bowo

C) B RS (Bodyporon) i) o088 |

D) 88 V) s9uko
' | V) SroddS

(1) A~(v), B(iii), C-(iv), D-(iii)
(2)  A-(ii), B-(i), C-(iv), D-(iii)
(3)  A~(v), B-(i), C-(iv), D-(iii)
(4) A-(v), B-(1), C-(ii), D-(ii)

144, Which of the following metal displaces Hydrogen from Cold Water?

(1) Zinc (2) Mercury ~ (3) Calcium (4) Aluminium
§oB TBS* D S0 Wed A Hos TERSKH FEodo BodEs.
(1) ®of Q) 6850 3) sdho (4) worgdcho
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- 145,

Arrange the following metals in the increasing order of their reactivity.
Zinc, Mercury, Gold, Iron, Calcium, Sodium ‘
(1) Gold <Mercury < Iron < Zinc < Calcium < Sodium

(2). Gold <Mercury <Iron < Calcium < Zinc < Sodium

(3) Sodium < Calcium <Iron < Zinc <Mercury < Gold .

(4) Gold <Mercury < Zinc < Iron < Calcium < Sodium

180D S'Fed T8 durgiod SwE), 284 o @K)quoé

208, Fe6H0, wormde, S0, SO0, B0

(1) =omrdo <JE8Ho < Qoo <eao§ <5godo <Fdaso

" (2) womdo < FE6d0 < adodn <5 oo <a‘-:o§ < GO0

- (3) Fdoko <zPoso < Qo < a%o§ < PE8d0 < worrdo

(4) -@omrdo < 3°¢5<‘5<oo <zof <addu <sdoho < Fdoho

146,

Choose the correct matching from the following.
i) CH, +Cl, —2E" , CH,Cl+HCl &) Combustion reaction
i) CH,COOH+C,H,OH—S0H8% ,  b) Substitutionreaction”
CH,CO0C,H; +H,0 -
iif) C,H;OH +30, ——>CO, +3H, O+Energy ¢) - Fermentation
' ,iv)' C6H1206 TYP;‘—S%—&C H50H+ 2(302 d) Esterification reaction
8o & Hood JORS BEDGWLD 05539)_5“0&’9
) CH,+Cl —“""@LCH Cl+HCl Ca) GESEe%
i)  CH;COOH + C,H,;0H—T8150 b) - PEESe WY
CH,;COOC,H; +H,0 S
iii) C2H50H+302-——>C02+3H20+%§ c) 8mg HIBoH
iv) 6H,zoé—a-a,—»zcszoHJr:zco2 d) S5688e 36g
(1) ()b, (ii)-c, (iii)-a, (iv)-d 2) (Q)-a, (ii)-d, (iii)-c, (iv)-b
(3) (i)-b, (ii)-d, (iii)-a, (iv)-c 4)  (i)-b, (ii)-d, (i)-c, (iv)-a
147. Which of the following is not an amorphous allotropic form of carbon?

(1) Graphite (2) Coal - (3) Lampblack 4) SugarCharcoal

& §od S 5‘6?35 B @B ErFroddo 5B 26?
(1) a& (2) &M (3) Sd Hd (4) z:SEgIci T8 S

148,

Which of the following chemical reaction does not take place inside the blast furnace?
g FOD SHO & §od SIaRS SEgee® 6 BT

(1) ZnS+30,——2Zn0+2S0, (2) Fe,05+ 3CO ——2Fe +3CO,

- (3) CaCO;——Ca0+CO, (4)  CaO+Si0, ——CaSiO;
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149. A compound ‘X’ formed by the reaction of alkaline KMnO, with the compound “Y*
compound ‘X’ also react with “Y” in presence of con. H, SO to form a sweet smellmg
compound ‘Z’. Then whatare ‘X, ‘Y, Z’ respectively?

(1) Ethanoic acid, Ethanal, Ethylacetate

(2) Ethanoic acid, Ethanol, Ethene

(3) Ethanoic acid, Ethanol, Ethylethanoate

(4) Ethanoic acid, Ethene, Ethylethanoate

B30y¢So Y’ wpgyd KMnO, &° #6835 0s Bdoeso X ;60 EBDB. Ao X’ me
H,80, $%gos® ‘Y’ & ﬁdgé‘o& Bogd FBS Mo d3so 72’ K Sra IE60D0A.
@008 31 ‘X, Y7, 47 o dD0d3?

(1) 28SFonE svio, adas, 23d RDBE

(2) agSTons vio, ¥ETS, &S

(3) 2ESonE B0, VWSS, APSAET

(4) =ESon§ wbo, S, WBSRETRE

150. Choose the correct matching,

i) H,C-CH-C=CH ~a) Pent-2-yne-1-oic acid
o,
ii) H;C-CH,-C=C-COOH - b) 4-Methyl Pent-1-yne
CH |
1Hi). HC=C- CH, - (|3H —CH, ' c¢) Hex-5-ene-2-yne

iv) H,C =CH- CH, -C=C-CH, d)  3-Methyl but-1-yne
DO wEHHEat assaﬁoae.

i) H,C-CH-C=CH _ @) 2085-2-05-1-8008 eS80
. . | . -
CH;

ii) H,C—CH,-C=C-COOH b) 42085 os-1-0S

i) HC=C-CH,-CH-CH, ) WE-5-&5-2-05

iv) H,C=CH-CH,-C=C-CH; d) 3-2088 argi5-1-08

(1) (i), (ii)-a, (iii)-b, (iv)-c ) (-4, Gi)-b, (iii)-a, (iv)-c
() (i), (ii)-a, (iii)-c, (iv)-b (4) (), iiya, Gii)-b, (v)-d

o [ [ ! i
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